170ctober2023MAT4800LectureNotes.notebook October 17, 2023

MAT 4900
17 Ootober WY

R\ lraonn - HWW"'L""“‘”“

- X 2 be 4wpaor R.S.

ot 4 X=X ba a no~- ks
_&&MMRL ~p o korug. N; 1.

Lot Cy (‘ﬂéX\ be e w%

g 4 x [ So o F
*‘XW’| A finik 'W““"“L""AX' x, b
Ly = 4 j

-

a2 X(X)= N X(T)
- Z (21’4)

x € X
(B

((44 Sewpis O4a
yost x , oxapt-
el poinas Wlew

€x 4.
{w Jlewe is Wo V\W\-Lb-?\a»*
\’\-_4 \.‘P 'g'. x—-’\‘- ':
- )
?&M ) < g o X)




X(X\t 2- 24(X)
\&&K): (4 "2—ﬁ(T)

\" tx")
N XY g}((

X(X) =
2- 240X = N(2-29)
- igxk'en— ')

{n.") —|’ ZM%LT)
Q—r’?‘"&\\l _ 2N+ 230

0 > 4a«3(%)
B 4 + N?QT)
if 1(~r)>«a(x),“5«,,

Exammde :\{ 8()0 >4, $oar

vy how =~ CosBiA \'\d(m.,@'\nx el G
$. X—>X

PO L (e Legff)< 1),

\§ A% 2N+ 1500
LNg R < 2
< z‘x(‘fc\(“"\ = =
T g0 71 & n D
1§ posebl i = A
. \
Speit e !




170ctober2023MAT4800LectureNotes.notebook October 17, 2023

So  Prinage § Any  pnr b
G ercily (S pRHS. ) g, IS G Covewy
e
WL N‘”W X \”‘6 §ntl M'-Klo
G ks 47 (&) = Lsjrk o
N et & S timmptntn g X,

X
Y indased ‘hﬁ“'\}\-!a&\

e n)ocaﬁ-?/ adks, N
Ss +Lo'€°\- Y ts L‘k‘;—«: Pﬂi’m{-‘:‘

2 X - X
YWhet 1§ we e = el px.
- LU"S' Lok =* Rk beppensy

A® ®—>YD

2z =%

V
Ty
o R(py= ¥ )

- 0
o s e L oavar pa Uy
w\dﬂt ""1"‘% =, For o wise €yt




170ctober2023MAT4800LectureNotes.notebook October 17, 2023

RH & sehofed in s anae, Sten- )
X(D) - 2&
\KCD) = ﬁ I\ x€ (D

"\ ¢ "
N \-@.-4)

Ugg e abnsc ’Z,bpzad s X

Hee A dihvihg o Elen Lanadtnithe

foo Colide - |
X\ 4 () = YNt

i§ a Msw,q,uo. s e e
«S\-M\'np:.a& Coye .

A (XN 1 Conyet )
- N X(x) €48<)

P)\‘ &J Aﬂ"k‘““’\) .

§(etet)
X(X_\ e 4 ¢ onm




170ctober2023MAT4800LectureNotes.notebook October 17, 2023

§ 3. -\—lg(,.w‘,..‘)« Cnsmuchia |
|Ok|

<."ﬂ \\/«t
10,10 ~ X =
14 Yene 1S L;gh_. F M&
Pois il j:: T o Sl
9o 1O

RS

19 FloY= F(L)) e ¥ gonn,
JRVAL 8

‘F/O\ X w(o) San L‘ exendos
T A &.L»«opd.-c T ‘-
V 2kl e UTO;‘-S y

Ftomge.  Cnmidn o g %

ey = A

T 2 L\‘N i+ e o~ N‘W"“
’5 -\\':L ::;' ciouclt What shadot we d?

\,\H,.p\ We Can Ao i s




170ctober2023MAT4800LectureNotes.notebook October 17, 2023

LA X ke W bncek o,
o | O\ whe axean T wem

bl u VB oA Y

v
e . Ow L’ﬁ"k()('x,lf‘i"‘“
(W"""a«l’m«-ﬁﬁ.’f”’ N

X, WM&-.\.L: Gviatathy

y& ‘P#M'\C %\A.hd\o-v\.
lide V2 9\1'1 -1y 2>-
A~
< 3.1
"i\b’%':"‘}"
V
oU ¢ Pc

T deds Sechm s e ki 4 fohivg ok
Faminimel Lt Adimodre goung,
Tha 7.9. Let P(T) = F‘V\+c|T“"+...

-~ c. € M (XY T3l

. C-.. At Mm'}okc

S R R
,,\Ti:::..ﬁ»é fci. £ € TN




170ctober2023MAT4800LectureNotes.notebook October 17, 2023

L an = Sheeks w;r

T, O
Go ook b
(P ¢ =0

QT* P\(\%' € M(\() (T}

ofred 0 (w1
T)= T +a(xl
o+ (3 T)=T )

+ o (xMT
5 A pildnt
7 e (W= C(ﬂ(;%”cs@x_).ﬁ

T X =€
‘(\>/
¥ e




170ctober2023MAT4800LectureNotes.notebook October 17, 2023

Thn $:9 ¥ S‘(\e-,u. foan AV fian,
Hemem = T ~rpeAs . 4. itis gtele
2- H’ Ms alay onhca® P\'t\!c.

Cag PO s wt & phymass,
Eﬁ“"/‘: m-lqu:d N AN
MY

.

<.
p Tha
jﬁ% AAsnindimant
SELEE EATANEIE 3!




170ctober2023MAT4800LectureNotes.notebook October 17, 2023

Pisd degae n = =€D
5 3 cxady n Hffe cishieq s

cllgh % Bm 4 P(T,=) =0

LoD snolric S
_\_&‘:‘v “TT(' — X\ D € u-rfetest
(eRrinmg W', '.\('—-;C
e 1°
Defe % '8*'0(‘6') = e ﬂ(*a’)),
( Rasietdy

= (0 s gl o))
S (n*P)g):o & Vo
Wan o do vt Xe b:

Bose o It aflrdnd D 4%
VW X

1)

@,




170ctober2023MAT4800LectureNotes.notebook October 17, 2023

j,? D is Nl ol ) Ran

|

~' 2 x' ( D\%) is g in vWin. of

N < - Y Lt wi

aoh W ke Fs Ao & bt

oy o
. X 2 X 4 Aegrac
.
Tv o Caae) mowe emplict  desniphon
X = €

T 3T, ke €0ACT]




170ctober2023MAT4800LectureNotes.notebook October 17, 2023

R v AR (i ek

X= 3 [1iqrecn Pl
1% - N - X Vg MiaRy (-z,a)-ax

Whet 15 e et Lebreen ki ol

: = Cuhel
Ah%. ﬁ "K'( PKMS{K)

11



170ctober2023MAT4800LectureNotes.notebook October 17, 2023

Whar are oiaal pangs”

D inimiver D= fdé(‘: x}!a_ ;
5 CAibicl pants S ' (D)
_ %( O ;”S,),(O,gp) , (0, 1)¢

f’g - ?'L‘; =4
We can wonly Ltk Raz 2o %

‘K‘Q m3 Y’\W\SW "\Mﬂaw'b'és-’
yoawt s .
ﬁ*ﬁ“@-’-? e
X - (*1y) ’
qaz— ’1‘1» ‘f"x_: O}
¢ X 4 RS

12



170ctober2023MAT4800LectureNotes.notebook October 17, 2023
A - Jo\S N \wsx
2 { -0
- 2yt =x=
5 2c C: 6

\M) %M’& Ants in 11}
hes mdhile

'n ‘l‘“‘b +]a7_ ‘l'b

is 14 A

% ad - =

Oz -X, ‘9"‘" K 913
X=0 axxcf-‘(.

- 0, %4%.
_— (Ab\_ ?j (0,0), (4,01,

Hw: She e 7' (D)s
o chwally Yoo bt poias o

e :1-'(;\( ?(*'\)GC zzj
yw- 4 =%
7. X =2 X

(1"\\"57(

2
.}('_ A..s %v\.\\-ﬂd .




	Side 1
	Side 2
	Side 3
	Side 4
	Side 5
	Side 6
	Side 7
	Side 8
	Side 9
	Side 10
	Side 11
	Side 12
	Side 13

